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EEE = ﬁ.‘jjl,g%j% = 5 = i =

1| 5] 1 ENEAR |F7H (589 (kodomo#iRHt-550/) 4150]  -4.150
ol 5|5 $ % B |BES(15300MX05) (485) 7945|  -12,095
3| 5|5 £ B B |WEEERE324MX05 4AD) 1662 13,757
4 5(6 B B BI|INEE 510 -14,267
5| 5 |15 EREIEE | A 1 MRS - BB (11000/X07) (485 7700]  -21967
519 HHEERESIAN (5~685) 480,000 458,033

6| 5 |31 ENEAR |EErR (5AD) 3400| 454633
1| 6] 1 ENEAR |57 (689 (kodomo#iRHHt-550) 4150] 450483
8 64 GRS |1V VR (45991 X06) 2759 447724
of 6|5 $ 35 B |WBEB(15695MX05) (589 7.848] 439,876
10| 6| 5 $ ¥ B |[SSEEAGE281MX05 6AD) 1641] 438,235
11| 6 |15 RIS | A1 MR - BIEE(11000/X07) (55 7700] 430535
19| 6 |30 ENEAR |EER 6AD) 3400| 427135
13 7 1 EREAR |55 (789 (kodomoiRIH-550M) 4150] 422,985
1] 7| 2 FRERE |KERsRanh 3710| 419,275
15 7| 5 $ 35 B WEB(14025MX05) (68D 7013] 412,262
16 7| 5 $ % B |SSEEAGE281MX05 6AD) 1641] 410,621
17 7] 8 RIS | 1Y VR 4963EX06) 2078] 407,643
7 110 HEERESH AN (7T~085) 720,000 1,127,643
18] 7 |10 REIEE [DER (REALK— FERR) 33,600] 1,094,043
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19] 7|10 s 5 8|vEs 488] 1,093,555
20| 7|15 GBS | OE—R 1,050 1,092,505
21| 7 |15 RERGES | AR 1 M2 - BIPE( 1000MX0.7) 6585) 7.700]  1,084.805
2| 7 |19 R R 1,000 1,083,805
2} 7|20 R B 1,100 1,082,705
24| 7 |28 R B 440| 1,082,265
25| 7 |31 R B 300] 1,081,965
26| 7|30 R |REa UK — R 60,500] 1,021,465
21| 7 |31 ERBAR |EEH (755) 3.400| 1,018,065
28] 8| 1 SRBAR |7557R8 (885 (kodomoRatt-550M) 4150] 1,013,915
2| 8| 5 B B |BEB15659MX05) (7TAD) 7830 1,006,085
30| 8| 5 B B |EEEEAG281MX05) (755) 1,641 1004444
31f 8 |10 GRS | KBS K- FRRF 1 VIR 317,358] 687,086
32| 8 |15 GRS | AR 1 MR - BIPE( 1000MX07) (78D 7700] 679386
33| 8 |21 R |REaLK— FEER 370] 679,016
3| 8|27 SRS | YU V6841 MX06 3505| 675511
35| 8 |31 ERBAR |EEFE G 3.900| 671,611
36| 9| 1 ERBAR | #7558 (085 (kodomo#iRItt-550M) 4150| 667,461
37l 9 5 F B B |EEE15662MX05) (BAD) 7831] 659,630
38 9| 5 B B |EEEEAG281X05) 855) 1641] 657,989
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30| 9 GHRERE | AT FEST - B2 (1 10008X07) 885) 7,700] 650,289
40| 9 GHRERS |REmSaani 700] 649,589
4| 9 SRBAY |FEEEE (08D 3,900] 645,689
4210 SR | 5755 (1085 (kodomo#ifHi-550M) 4150] 641,539
43}10 LRGHE |Esipi 800| 640,739
44{10] 5 £ % B |BE#(156590X05 (989 7,830] 632,909
4510} 5 = B B |EEEEAG281MX05 989 1641) 631,268
4610/ 6 GHRERS |REALK— FR2T « VIR 2,334] 628,934
4110] 8 GREREE |7V YR (5267HX06) 3,160] 625774
10 BISEHESI AN (10~1285) 720,000 1,345,774
4810 GRS |ARY 1 MM « B2 (110008 X0.7) O82) 7,700 1,338,074
49[10 SRBAE |EEE (108D 3,900 1,334,174
50 11 SREAE 57558 (1185 (kodomo#itHi-550M) 4,150 1,330,024
51f11 £ % B |®EZ15705MX05 (1089) 7,853| 1,322,171
52[ 11 = B B |#SEERG281MX05 (1089) 1641] 1,320,530
53| 11 GREEE |FEmABR GED 32,670| 1,287,860
54{ 11 GRERE | AT« HRT - B (110008 X0.7) (10852) 7,700 1,280,160
55} 11 GREEE 1YY YR (83928 X06) 2,035 1,278,125
56{ 11 GHEER (DR (RBEALK— RERERD 33,600 1,244,525
5711 GHEES |[Or—H 980 1,243,545
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58f 11 LRGBS [Esph 500 1,243,045
59f 11 LRARE |RESLK— HMERS 60,500] 1,182,545
60f 11 SREAL [ERHE (118D 3,900] 1,178,645
6112 SRBAL |F5HE (1285 4,150] 1,174,495
62|12 £ ¥ B |BIEB(U5669MX05 (118%D) 7,835 1,166,660
63[ 12 = B B |EEEENRE281MX05 (1189 1641] 1,165,019
64|12 GRGER |RBAUK— FRRT 1« VIR 492,826| 672,193
65) 12 GG |[ARY 7 HEST - BIER(110008X0.7) (11852 7,700] 664,493
66| 12 GERGEER |V UH(46318X06 2,779 661,714
67/ 12 SREAL |ERHE (1285 3,900 657,814
68| 1 SRBAL |55 (18D 4150] 653,664
69) 1 = ¥ B |EEB(15659MX05 (1285) 7,830] 645834
70 1 T B B |SEEEHRE281MX05 (1285) 1641] 644,193
1 BISEHESIAN (1~389) 1,364,193

71 1 RRARE [BEph 800| 1,363,393
72| 1 GRGRE | AT« HES - BI2E (11000 X0.7) (1285 7,700 1,355,693
73} 1 RBARE |BSph 700 1,354,993
74 1 GERGER |1V H(5081HX06 3,049 1,351,944
75} 1 SREAL |ERHE (18D 3,900] 1,348,044
76| 2 SHEAE |FEE D 4,150] 1,343,894
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7|25 $ B B |BES(14009EX05) (185) 7.005] 1,336,889
78) 2| 5 $ B B [EPEEAG281MX05 (155) 1,641| 1335248
79| 2 |15 RIS | At 1 HET -« BIPE( 1000/X07) (185 7700 1,327,548
sof 2 |29 ERBAS |EErm A 3.900] 1,323,648
81| 3| 1 EREAR |FAEE (3D 4150 1319498
82 3|5 F B B |BEB14559M0X05) (285) 7280 1312218
83| 3|5 $ B B |[EPEERG281MX05) (255) 1641] 1310577
saf 3|5 RERGES |[KEALK— FR2T 1 VIR 3217 1,307,360
85| 3 |10 GRS | 1Y) VR 4961MX06) 2977 1304383
86| 3 |15 EREEE | AR 1 ~M2S - BIEE( 1000MEX0.7) 255) 7.700] 1,296,683
87| 3 |28 R | 12.847] 1283836
sg| 3 |29 RS |KHALK— e 60,500] 1,223,336
89| 3 |29 RERGES |[KEALK— FRRT 1 VIR 1298929]  -75593




